’ Which of the following functions of & is guaranteed by the Extreme Value Theorem to have an absolute
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Let g be the function given by g(z) = /1 — sin’z. Which of the following statements could be false on

the interval 0 < z < 7 ?

@ By the Extreme Value Theorem. there is a value € such that g(¢) < g(z) for0 < z < . v
By the Extreme Value Theorem, there is a value € such that g(¢) > g(z) for0 <z <m. o~

@ By the Intermediate Value Theorem, there is a value € such that g (¢) = M, v
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4. z 0 1 2 3
f(z)| 15 14 12 9

Let f be a function with selected values given in the table above. Which of the following statements must be

—_— —
true?

1. By the Intermediate Value Theorem, there is a value € in the interval (0, 3) such that f (¢) = 10.
2. By the Mean Value Theorem, there is a value € in the interval (0, 3) such that f (¢) = —2.

. By the Extreme Value Theorem. there is a value € in the interval [0, 3] such that f (¢) < f(z) forall © in
the interval [0, 3].
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